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Find the €xact value of the following.
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L. cos“l(cos?) 2 sin“l(sing) 3. tan”™ (tan —7)
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4. sin™1 G-) 5. cos™ (—?) 6. tan™" (—1)
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Find the exact value of the following. If there is no value, say “undefined”.

7. sin(sin™'6) 8. cos(cos™!= 9. tan(tan~11)
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Solve the following equations. Give answers for ALL the solutions.
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Solve the following equations on the interval 6 < @ < 2w
19. 1 —sin®x =0 20. tand — V3 =0
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23. 4c0s%60 = 1 + 4sind 24. cos26 =-21-
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Find the cos(a + B)
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Use the sum/difference identities to find the value of the following.
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II:th.a‘];:’are astep by step proof of each the following identities with eve
catness counts!! Remember, I have to read your elegant proofs!! If you are un
write IDK next to the problem to recejve 2 points.
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